1036 EHF X B &

W% 294 1 H 25H

RTFEHBEEZERE
i = 1% 1 BF304y
B ZEE DA
SHDOPRTE

# o <ERH>
(1)  Efed H35mIEERNER RIS E RSO ILTERIEFH O

FEIZOUNT (AR RIS A AR — HEEER)
(2) KER F22nleERRERN RS A8 KA D LIPS T DR,
BEZOUNT (AR PR A AR — "V HtE =)
3 el
W 1s BEREONFIZHOWT (KBS B =)

B =



EEE FI5EEEHEFENMELFIRIGHEERS
h & B E F D B &
HA B Em29F1A15H(H) 12307 RA2—bk
15 ff EHTARBRSERSAERELFRRIBRY—,, T—ILETHAETIYYI—R
O — ZX 9K 42. 195km
(A& HAE)
F£3841 225925 BT K £(34[@) %314 285224008
BERS(23E]) %36 28175498
. = F £ F— 1 B AN B & Lz 18
IZFEIE] EE%& E‘H"Eﬁl— " -
(HE - FrE) VIR XRIERS] 2 4 L [X fi&l 50 &%
Galdt s — L AL & 3 5F) BEEIRER (E—4d)
oK 4 km T L1737 a4 | a2f| 13 417 [12:27 (230
(BB ARBE, ILDEE) REIRER (AR YLz 21)
3E 3km | T+ BHE 42 | 378 |10 127 |9:11(22E)
T 3 %) SERK(RESSI)
AR 4 km miE FF 414 | 35/ |14" 03~ |[13:09(25E)
U — LRI & 34) KAKAR(IEGEEKRS)
R . .
5 4. 1075km &b B 43 | 43|14 477 |13:40(23E-25M)
(BEand - Uit E24) Bt E(LkHitE2- IEXEX)
g _
6 X|4.0875km| BTE BF 44 | 44|14 18~ |12:55(25H)
(BB — th—EEM L S 3 4F) ALERF (LR S2)
7% 4 km AE Hbob 411 | 23413 15" 12:58(20[m])
(R — IR S 1 %) KOKRASR (EILBAEEE2)
8K 3km nE A sgfi | 126|107 277 |10:02(23E)
GEEDmG 2 4) FMEEER (REHTSI)
9Xl10km LIS sgfi | 25|33 44~ [32:23(22EH)
@RKE—YILF21 ., WkHEE) Eik MO o-nY-)
BE2A L 2° 25’ 25"

wE 1-1




¢ ¢ E5HE I SOEEHENRNNLZFERICHEAS €€

[Etw thEFE J—ILYA A =
11z R B 2° 17 45"
211 fedd L 2° 17 477
3fiz T = 2° 18" 24"
441 & I 2° 18" 32”
5 = yal 2° 18" 347
6z s 3 2° 18" 347
Th1 B = 2° 18" 39"
8fiz & B 2° 18" 46"
ofiz 3 fedd 2° 19" 04"
10fiz & £ 2° 19" 327
111z IR 5 2° 19" 387
12111 N bR 2° 19" 417
13111 ik 5 2° 20" 06"
1441 S R 2° 20" 18"
1541 x 13 2° 21" 117
1611 RE Z 2° 21" 20"
1711 3 5 2° 21" 29
1811 15 x 2° 21’ 50"
1911 L O 2" 22" 26"
2011 # b 2" 22" 33"
2111 =) % 2" 22" 35"
2211 A H 2" 22" 39"
2311 t B & 2° 22" 417
2441 (3 8 2° 22" 45"
2511 = 13 2° 22" 50"
2611 31 g 2° 22" 56"
2711 U3 2N 2" 22" 59"
2811 = =2 2° 23" 017
2911 =) yl 2° 23" 03"
30fi1 N pa) 2° 23" 28"
3111 & 5 2° 23" 47"
3211 A O} W 2° 24" 27"
33fiz = HX 2° 24’ 48"
3441 (=) ) 2° 24’ 48"
3511 = I 2° 24’ 527
3611 Y 5 2° 25 117
3711 L o 2° 25" 20"
38fi1 L f 2° 25" 25"
3911 (G = 2° 25" 39
4011 5 1R 2° 26’ 38"
4111 & ) 2° 27 16"
4211 =] F 2° 27 24"
4311 = R 2° 27 25"
4441 3 H 2" 28" 22"
4511 B Fx 2° 29" 46"
4611 P e 2° 30" 18"
4711 = L 2° 33" 35"

HE 1—-2




RERF22R2EEMEM R MBFRIGRERS

Wb B £ F D Bk B
HA B Fr29F1H22H(H) 12B3050RX42—k
5 i LEENZESAEZRY—, d—ILETBHRARETIYO—X
O — X 7Xf 48. Okm
(o & RiE)
F£35460 2BfI25%907%# B K £ (21@) %381 28255525
BERS ( 1[ME) F231 285120544
(IHa—XR)
. = F £ F— L ®m AN B & I
XFE| B _ B BIEL — .
(HE& - FiE) ERM XMEIEGS] 4 4 L X2 8%
TR 7 km RE R 18fi | 18| 20’ 39~ [20:16(16HE)
CEE—th—BEES14) MREE (EEALRE3)
+= = 3 .
(LA 34E) REERECEH—%2)
3R 8. 5km tF B o8fi | 34fi| 25 31~ |24:28(13ME)
(LAE=E - FHNDYT F 5T MRaEL (ELEERS)
3 f .
4R Skm AR R 3of | 354 |15 04 |14:52(15E)
L+ — L R E34) EgkEth (LkdhRs2)
== ALt )
5| 8. 5k 5H oofi | 27f| 25" 3g~ |25:39(9@)
(RIRZp—RBRILREIF) SN E =)
3 = .
(EILFEH3%) HMAaE (EEHI)
Y\ i) .
7| 1 3kn wA B 356 | 41fz| 40’ 06~ |38:46(19@)
(#Z)IIK—NDYT+HLT) MAREE (RREXKXI)
HWEIA L 2° 25" 07"

HE 2—1




¢ & XERF220EHEPENKIXNNBFRIGHERS €

Bz e e ESE A G
117 E % 2° 19" 09”7
2111 ® [0 2° 19" 28”7
3fiz 2 A 2° 20" 31”7
411 R & 2° 20" 37”7
51 5 2° 20" 51”7
oz B 5 2° 21" 03”7
h1 R R 2" 21" 18"
8fiz i 2" 21" 29”7
Ofi1 F =5 2" 21" 32"
1011 M H 2" 21" 347
1117 k& 2" 21" 347
12111 g E 2" 21" 39”7
13111 BRS 2° 21" 407
1441 = & 2° 21" 45”7
15411 x W 2° 21" 56”7
1611 B A 2" 22" 02"
1711 A bR 2" 22" 22"
1811 2 15 2" 22" 247
1911 AN D 2" 22" 32"
2011 5 X 2" 22" 327
21111 B 2" 22" 41”7
2211 R 1B 2" 22" 42"
2311 Ik & 2" 22" 42"
2441 & F 2" 22" 42"
2611 N 2" 22" 447
2611 L & 2" 23" 02"
2711 fd W 2" 23" 12"
2811 B 5 2" 23" 22"
2911 tiee 2" 23" 31”7
30f1i1 2 B 2" 23" 447
3111 5 & 2" 23" 49”7
3211 w O 2" 24" 37"
33fi1 2 W 2" 24" 57"
34111 5 X 2° 25" 01”7
35111 W i 2° 25" 07”
3611 & 2° 25" 15”7
3711 w & 2" 25" 31”7
38fi1 AR 2" 25" 347
39111 5 1R 2" 25" 53”7
4011 8 H 2" 26’ 38”7
4111 s W 2° 26’ 48”7
4211 W 2" 27" 09"
4311 B 5 2" 27" 14"
4441 & I 2" 28" 28”7
4541 P feE 2" 28" 28”7
4611 = B 2" 28" 33”7
4711 S Al 2° 28" 38”7

e
I
T




